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01 | #include <stdio.h> 10 {
02 | main() 11 t = alil;
03 | { 12 alil = aljl;
04 int i, j, t, al8]l; 13 aljl = t;
05 for (i = 1; 1 < 8; i++) 14 }
06 scanf ("sd", &ali]); 15 for (i = 1; 1 <= 7; i++)
07 for (i = 1; 1 <= 6; i++) 16 printf ("%54", alil);
08 for (3 =1 + 1; J <= 7; J++) 17 |}
09 if (ali]l > aljl)
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01 | #include <stdio.h> 01 | #include <stdio.h>
02 | #include <iostream> 02 | #include <iostream>
03 | main() 03 | main()
04 | { 04 | {
05 int i=7, a, b, ¢, 4; 05 int a[5]1={1, 3, 5, 7, 9};
06 a=1i++; 06 int b=7, c=0;
07 b=++1; 07 b++;
08 c=1i--; c+=C; 08 c=b+a[5];
09 d=--1; d=--d; 09 printf ("%d, %d\n", b, c);
10 printf ("%d, %d, %d, %d4d", a, b, c, 4d); 10 system ("PAUSE") ;
11 system ("PAUSE") ; 11|}
12|}
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